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	Lead2pass 2017 October New NetApp NS0-158 Exam Dumps! 100% Free Download! 100% Pass Guaranteed!  Thank you so much

Lead2pass. You helped me passing my NS0-158 exam easily, 90% of the exam questions from the dump appeared in my exam.

Following questions and answers are all new published by NetApp Official Exam Center: https://www.lead2pass.com/ns0-158.html 

QUESTION 91Which statement is true about a SnapMirror destination vserver? A.    It must have a read-only Vserver root

volume.B.    It must be in the same cluster as the source VserverC.    It must be created with the same language type as the source

Vserver.D.    It must have a different storage efficiency policy than the source Vserver.Answer: C QUESTION 92A customer has a

4-node cluster. Two nodes have FlashCache and the other two nodes have Flash Pools. The customer is interested in deploying and

OLTP application with a workload that consists of an extreme number of small random writes on four LUNs spread across four

volumes.What should the customer do to improve performance for the OLTP application? A.    Place all volumes for the application

on the nodes with Flash Pools.B.    Deploy all volumes for the application on the two nodes with the FlashCache installed.C.    Split

the volumes between the two nodes with FlashCache and two of the nodes with Flash Pools.D.    Place the volume with the highest

read load on the Flash Pool nodes and place the other volumes on the FlashCache nodes. Answer: A QUESTION 93Your company

just purchased four additional FAS8060 nodes to add to an existing 12-node NAS cluster made up of FAS6290s.After joining the

four new nodes, how many more nodes are allowed before you reach the maximum supported configuration for a mixed

FAS6290/8060 cluster? A.    8B.    2C.    4D.    16 Answer: AExplanation:

http://www.netapp.com/us/products/storage-systems/fas8000/fas8000-tech-specs.aspx QUESTION 94During a storage failover you

run the storage failover show-takeover command and it displays the messages "relocating its SFO aggregate" and "CFO aggregates

not attempted".How would you relocate the CFO aggregate? A.    Wait for the failed controller to come online and takeoverthe

aggregate.B.    Wait for the CFO aggregate to show "done" once the SFO is complete.C.    Put the CFO aggregate online to force the

data aggregate to come online.D.    Force giveback of the failed controller to force that data aggregate to come online. Answer: B

QUESTION 95When assigning shelf IDs to SAS-connected shelves, which statement is true? A.    They only need to be unique

within an HA pair.B.    They only need to be unique within a stack.C.    They only need to be unique within a node.D.    They needto

be unique within a cluster. Answer: AExplanation: IDs must be unique within an HA pair. 

https://library.netapp.com/ecmdocs/ECMP1256807/html/GUID-FF56A1A7-F2ED-4F3D-BC2A-366609422B4D.html QUESTION

96What is the default privileged account used to manage a clustered Data ONTAP storage system? A.    administratorB.    rootC.   

adminD.    pseudo root Answer: CExplanation:The default cluster account adminan alternative administrative user account username

https://library.netapp.com/ecm/ecm_download_file/ECMP1196798 QUESTION 97Which statement describes a MetroCluster

environment in clustered Data ONTAP? A.    A single cluster at each site interconnected using FC switches and Ethernet switches.B.

   A single cluster at each site interconnected using FC switches only.C.    A single HA pair cabled across sites using FC switches.D. 

  A single HA pair stretched across sites using extended cables. Answer: DExplanation:

http://www.unitis.hu/downloads/MetroClusterContinuousAvailabilitySEPresentation_.pdf QUESTION 98You have an aggregate

with 10 TB free. You create a 1 TB volume with space-guarantee set to none. In that volume, you create a 500 GB LUN with

space-reserve enabled.How much space is available in the aggregate before data is written to the LUN? A.    10 TBB.    9.5 TBC.   

8.5 TBD.    9 TB Answer: B QUESTION 99AutoSupport recently stopped working. No changes were made on the cluster

itself.Which three factors outside of the cluster would cause the failure? (Choose three.) A.    changes to DNSB.    changes to the

firewallC.    changes to the Active Directory service accountD.    changes to your NetApp support user IDE.    changes to the proxy

server Answer: ABE QUESTION 100Which two must already exist before creating a subnet? (Choose two.) A.    storage

virtualmachineB.    failover groupC.    broadcast domainD.    IPspace Answer: CDExplanation:

http://www.bradreese.com/how-to-subnet-a-network.pdfThe IPspace feature enables a single storage system to be accessed by

clients from more than one disconnected network,even if those clients are using the same IP address.An IPspace defines a distinct IP

address space in which vFiler units can participate. IP addresses defined for an IPspace areapplicable only within that IPspace. A

distinct routing table is maintained for each IPspace. No cross-IPspace traffic routing happens.

https://library.netapp.com/ecmdocs/ECMP1155585/html/GUID-4C8A392E-290E-4F9C-91E8-EBF3E2047B06.htmlMore free

Lead2pass NS0-158 exam new questions on Google Drive: https://drive.google.com/open?id=0B3Syig5i8gpDSlNsODFqU2FNSEk 

Suggestion, read NS0-158 questions carefully try to understand or guess what they're asking for. Hope everyone passes. 2017 
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